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Directions: There are two sections 'A' and 'B' in this question paper. All 30 questions
of bpth sections are compulsory.
(i) s &g FMeiRa 3 370 vy 3ifea &
Marks alloted to the questions are mentioned against them.
(iif) IO F B LA Uigd AT WHfAT TR A0
Read each question carefully and answer to the point. ‘
(iv) 929 T 1 a0 16 79 € 3 WeHT P TP WUB & IR ¥ TR

(v)

(vi)

fomea fedr o &1 =@ = IRfae! § ffae| wem e 2 4 5 qan
17 & 20 a& Hf¥aa g ge7 &)

Question No.1 and 16 are muitiple choice questions. Four options are
given in answer of each-part of these questions. Write correct option
In your answer book, Question No. 2 to 5 and 17 to 20 are definite
answer type guestions.

T WIFEE 9 T 21 | 24 T Y 1 IR o0 50 ol ¥ &S
Questiori No. 6 to9 and 21 to 24 are to be answered in about 50
words each.

W9 &A1 109 12 T97 25 | 27 7P Wl ol IR FHT 70 =) A Al
Question No. 10 to 12 and 25 to 27 are to be answered in about 70
words each.

(vil) e =T 13 | 15 G207 28 /¥ 30 T Fedep BT FoR T 120 vt & e

Question No. 13 to 15 and 28 to 30 are to be answered in about 120
words each.

(viii) 3 9¥-07 H THY R B3 e =18) & qenfy ofawg vt § siakes e

s fosar 21 ¥ ol & ¥ad v e o & IR Afse

There is no overall choice in this question paper, however, an internal
choice has been provided in few questions. Attempt only one of the
given choices in such questions.
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WU - A (Section — A)

1. (@) & snfemawen & ao= & 95T &1 HROT & 1
(i) e B siferasar (i) ufa &fe 3ma
Gii) St sty (iv) TR & T

Reason of the 'problem of choice' in an economy is :
(i) Excess of resources (i) Per Capita Income
(i) Technological development  (iv) Scarcity of resources

() T o A &: 1
(i) VIO TR (i) IR TP
(iii) foremTaT ot o (iv) 1 & Pl el
Tea and Sugar are :
(i} Substitute goods (i) Complementary goods
(i) Luxury goods (iv) None of the above

(m) %am%— T\ L 1
(i) P IUE (i) 3itTa 3dme
(i) B 3= \\@ (iv) 9 § P13 7@l
The value of C&%{g&;’?:nﬁ:;ﬁt is-
(i) Total l&@%?uct (i) Average product
(iii) Marginal Product (iv) None of these

(@) Frafeias 3 B gof sferoat & waor 78 & 1
() TR § ¥ e | a1 g fadar 8 2l
(i) HT B R # yawr 3 e wos dar 8
(iii) THT gRT e awC UHeY &K £
(iv) Hf gRT i awql vHwy &l 8 &
Which of the following is not a feature of perfect competition:
(i) The market consists of a large number of buyers and sellers.
(i) Entry into the market as well as exit from the market are free for

firms.
412 (IGH) [2]
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(i) Firms produce homogenous products,
(iv) Firms do not produce homogenous products.

2. oru UER @ srfeasen # i fopar-oem a1 Freafor s @ Rufidl & 3gaR g
& 1
In what type of economic system all the economic activities are organised
through the market?

3, O 3 o YaUrdT (TTeT) JTIROTE: S gl 8? 1
What type of slope does a demand curve generally have?
4, UF I P O IATTHA P TIL B DI AT TIT B! 87

What 'the want-satisfying capacity'of a commodity is called?

—

5. 3UEE § BH T3 BRe § URad aX Gl &, 39 T HEd &7 1
What the factor is called, which the firm can vary in the short run?

6. ofte arferea | 3T J97 THE &7 2
What do you understand by Micro Economics?

7. grgae YA & Aiawa ¥ a1 e |87 2
What is Decreasing Returns to Scale?

8. 3ICUBIET W UH BH B o1 et Y MU B B TN 87 2
How the total cost of a¥irm is calculated in a short run?

9. 3WEA sl famg fesr we &2 2
What is the Shut Down Point?

10. HffT & SHa g A 3T FaT IS &7 3
What do you mean by the price elasticity of demand?

11. 2 3R a5 T 06 GER @1 T Tal Sied 87 WL Dl 3
Why do two indifference curves never intersect each other? Clarify.

12, IR BE ol Ghed-T Bl IGTeR0l Aigd WL DI | 3
Explain the concept of production function with the help of an example.

FRMEI/OR
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13.

14,

15.

M & 1 afera ¥ et ey o st Rer e 2 Tor A -

In the following given table, calculate Total Cost (TC) and Average Fixed Cost
(AFC) :

tid | g ReR A | g uRadt e gaarE | siua Rer e
(IBIFAT) | Total Fixed Cost [Total Variable Cost | Total Cost |Average Fixed Cost
Output (TEC) (TVC) (TC) (AFC)
(Units)

(9) ) ) () @)

0 20 0

1 20 10

2 20 18

3 20 24

4 20 29

5 20 33

6 20 39

7/ 20 47
ﬁ:ﬁm%%ﬁﬁhﬁaﬁnﬁmaﬁﬁuﬁaaﬂﬁmﬁww#? FTERVIT | W
Pty \QQ 5

K
What are the determ@g factors.of price elasticity of demand for a goods?
Explain with the I‘@ examples.

WW%WW%W%MM%%?W%W!S

What do the long run.marginal cost curve and the average cost curve look like?
Explain in detail.

sfereaeiRiea Aok & ame aon Twe #2 W B 5

What do you understand by Non-competitive markets? Clarify.
AUGI/OR
HeUMEBR ¥ B &Y aeR e &7 wwgiren

How do firms behave in Oligopoly? Explain.

412 (IGH) (4]
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16. (@)

(@)

@og - § (Section - B)

3 eme # gfg am & foe S e s st &, a7 e & 1
i) FRozm (i) &m =y
(i) FUTY (iv) 79 9 B 7

The expense which raise productive capacity is called:

(i) Investment expenditure (i) Defenece expenditure

(i)  Wastage (iv) None of these

He1 B v wifts o g o 3t & 1
() TP HOFAIFN (i) TR D P e &
(i) TGS B Proat A g (iv) 39 Q3 T8

Meaning of deterioration in the purchasing power of money is:
(i) Decrease in prices of goods

(i)  No change in the prices of goods

(i)  Rise in prices of goods

(iv) None of these

(M 3 3w waRy (APC) & 9= A &- 1
AC ,
(i) Y (i), “s+c
o C .S
(iii) v (iv) Y
Average Propensity to Consume (APC) is equal to :
, AC N
(i) AY (i) s+c
iii) -g (iv) -g
(9) OR |<ge= uie &1 8, afk - 1
(i) FafassmmE (i) 3mam > Fafa
(iy  3maE = fFafa (iv) 79 B T8
Balance of Trade (BOT) is said to be in deficit, if;
(i) Exports > Imports (i) Imports > Exports
(i)  Imports = Exports (iv) None of these
412 (IGH) [5] [PT.O.
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17.

18.

19,

20.

21.

22.

23,

24.

25.

26.

27.

317 ol 1 : Jere e & ot ot won 3 @l e v €, & et €2
1

What those goods are called which do not pass through any more stages of

production?
3T & gl 5T TRad= & werawy, U # uRad @ & ded 87 1
What the change in consumption is called due to per unit change in income"?
R ReT (Ceteris Paribus) HT M 37 FT 77 1
What does 'Ceteris Paribus' literally mean?
9RA ¥ aq T3 ST} &9 § o] fbar mar? 1
When did the Goods and Service Tax come into force in India?
o Taferrr worelt @ &2 W a1 Bl 89 2
What is a Barter system? What are its drawbacks?
TR B /T a B AT 8 2
Why money is demanded?
=39 31 oRenfog SR | | 2
Define Investment.
faael o R T a%{fg 2
What is Foreign Ex\ ge Rate?
Q

e aﬂw@%@a & gane I DI 3
How did Macroeconomics emerge? Mention.
Y X& oI Jete X0 W 39 9T IS &2 3
What do you understand by Repo Rate and Reverse Repo?
T Aer (BOP) & TTe] WA & Ued a1z 3
State the components of current account of the Balance of Payments (BOP).

3R[EI/OR
faesh fftrra TR 6 aa &2 e B!

What is foreign exchange market? Clarify.

412 (IGH) [6]
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28. yrg aftia fafer Ry T g & o $R & T 22 wwerR| 5

How is National Income measured according to Value Added method? Explain.

29. 3ftmh g3 & Tw ¥ o ) frarfaft we SR 5

Describe the multiplier mechanism in the reference of the creation of excess

demand.

30. U &I oI a9 82 IHS VT § A1 &Y I DS | 5

What is a deficit budget? Write its merits and demerits.
F4Ar/OR
TFE U1 P AT FY B TS 22 e

How the Fiscal Deficit is measured? Explain.

XEkkkk
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